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Algebra 1

Section 1.3 Practice

Name___________________________________  ID: 1
©b y2v0s2G0S AKJuJtnaH VSAokf_tfwRaCrfeq [LMLzCX.h C qAAlllj wrGiHgdhSttsR Dr_egsdeyrCvgeZd\.

-1-

Solve each equation.

1)  4 + m = 5m - 4 2)  3r - 6 - 4 = r

3)  6 - 4r = -r + 6 4)  4 + 5x = -4 + 3x

5)  -2x - 2x = -6x + 10 6)  5 + 2n - 4n = n - 4 + 3

7)  1 - 3x = x - 2 - 5x + 2 8)  -3m - 2m = 7 - 6m - 6m

9)  1 - 6n - 4n = 1 + 4n 10)  -3n - 3n = -6 - n - 4n



©h z2j0]2W0Z ZKUuMtUaU lSQo[fgtzwCafr\ec nLFLxCc.r B iAel[lQ orPiVgPh]tIsp prCeTsMejrHvLe\dy.Z Y gMuaCdgea Dw[iLt`hq sI_nxfTiGniiRtleP PA]logGeLbJr_aI P1s.

Worksheet by Kuta Software LLC

-2-

11)  -4x - 18 = 2 + 6(1 - 5x) 12)  -24 - 2r = 6(2r - 4)

13)  -9 - a = 4(a + 4) 14)  -2 - 6(-4 - 4r) = -6 - 4r

15)  -5n - 20 = -5(n + 4) 16)  -3(k + 2) = -2 - 4k

17)  4(x - 5) = 6x - 12 18)  -6 - 4p = -4(-2p - 4) - p

19)  6 - 6n = -3(n + 1) 20)  -12 + 4v = 4(v - 2)


